1) The toots of the charas teristic polynomial of the homogenous equation associated with
votay 4 by 4 cy = 2¢7,

are 0, 1, and ~1, where a, b, ¢ € R.
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<) Consider the equation,

(1)
Ty’ + Yy +y= sec(lnx).
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3) Use Laplace transforms to solve the JVP

VoA =cont, y(0) = y'0) =0
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4) Use Laplace transforms to solve the JVP

” ’ 0 0(!(1‘ , ,
y + 4y +4yzz{4 £> 1, y(0) =y (0) = 0.
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5) Find the powe senies salutions of the [VP
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6) Let
T —n.<x<—12’~,
f=40 -f<z<i  flo+2m)=f(z), Vz.
T F<r<m

Find the Fourier series of f(z) and determine the function g(z) to which this series
converges.
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